Final Exam; F4360; Summer, 1999



Name ______________________________

1.  Due to unexpectedly high demand , Go Beyond Inc. is considering expanding its production capacity.  This new capacity will involve expanding current facilities using land which currently contains employee parking.  Land  to provide additional parking (to replace the parking spaces which will be lost) can be purchased for $125,000.  Expanding the production facilities would involve spending $350,000 immediately then $400,000 per month for the next 3 months.  During the expansion, the current production line would have to be shut down and sales of $30,000 per month would be lost.  However, production costs of $17,000 per month would also be saved during the shut down.  Four months from today, the expanded facility will open and sales would increase from the current $30,000 per month to $68,000 per month.  Production costs will increase from $17,000 per month to $32,000 per month.  Production from the expanded facility is expected to continue through 15 years from today.  If the required return on the project is 14.5% per year, should it be undertaken?

2.  Suppose that congress eliminates the tax deductibility of interest paid by corporations.  Based on what we discussed in class, explain why the optimal amount of debt for corporations would not drop to zero.

3.  Big Sam’s Burgers Inc. is planning on using surplus cash to repurchase 113,125 shares for  $15 each.  Big Joe’s stock currently sells for $8 per share.  Big Joe has 5 stockholders as follows:

Name
# of shares
Claire
500,000

Sam
250,000

Billy
100,000

Karen
50,000

Spot
5,000

Demonstrate how much better off Claire is if the firm repurchases the shares using transferable put rights rather than through a tender offer.  Assume that Claire exercises all of her puts.

4.  You are considering selling 5 put contracts on Hewlett-Packard which expires 49 days from today.  You plan to close out your position by purchasing 5 identical puts 34 days from today.  The put you are considering selling has an exercise price of $95 compared to Hewlett-Packard’s current stock price of $100.50 per share.  You estimate that the standard deviation of returns on Hewlett-Packard’s stock over the next 49 days will be 42% and that the standard deviation of returns on a similar call will be 74% and on the put will be 69%.  Current T-bill returns (given as APRs with continuous compounding) are as follows:

Maturity (in days)
Rate
6
3.36

13
3.14

20
3.69

27
3.71

34
3.98

41
4.05

48
4.12

56
4.03

What is the least you should sell the 5 puts for today?

5.  Sandbar Fishing Inc. has recently sold one of its fishing boats that has been sitting at the docks not being used.  Explain how this sale will impact Sandbar’s EVA over the next few years.

6.  Polar Express Inc. is considering expanding its facilities.  Discuss the conditions under which using Polar’s weighted average cost of capital may lead to incorrect capital budgeting decisions.







